



Navn: _____

Dato: _____ Score: _____

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\frac{3}{5} + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\frac{1}{3} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{4} =$$



Navn: _____

Dato: _____ Score: _____

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{179}{250}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) = \frac{437}{1080}$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{1}{24}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{21}{100}\right)$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{3}{5}\right) + \frac{1}{2} = \frac{11}{10} = 1\frac{1}{10}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{123}{250}\right)$$

$$\left(\frac{1}{3}\right) + \left(-\frac{1}{5}\right) = \frac{2}{15}$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{4} = \frac{157}{500}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{5} = \left(-\frac{32}{135}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{25}\right)$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{33}{64}$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} = \frac{79}{100}$$

$$\left(-\frac{2}{5}\right) + \frac{1}{6} = \left(-\frac{7}{30}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{4} = \left(-\frac{11}{16}\right)$$